VCE & PDF https://www.passapply.com/mb0-001.html
2024 Latest passapply MB0-001 PDF and VCE dumps Download

PassApply.com

MB0-00109%As

CompTIA Mobility+

Pass CompTIA MB0-001 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/mb0-001.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by CompTIA
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest MB0O-001 Dumps | MB0-001 Exam Questions | MB0-001 Braindumps 1/3


https://www.passapply.com/mb0-001.html
https://www.passapply.com/mb0-001.html
https://www.passapply.com/mb0-001.html

VCE & PDF https://lwww.passapply.com/mb0-001.html
2024 Latest passapply MB0-001 PDF and VCE dumps Download
PassApply.com

QUESTION 1

Which of the following are used to secure data in transit? (Select TWO).
A. IPsec

B. WPA

C. Block level encryption

D. FTP

E. File level encryption

Correct Answer: AB

QUESTION 2

Which of the following is required to connect to a WiFi network?
A. Authentication

B. SSID

C. VLAN

D. DNS server

Correct Answer: B

QUESTION 3

BYOD is a concept that combines which of the following aspects of mobility?
A. Usability and security

B. Security and recovery

C. Security and performance

D. Usability and carrier agreements

Correct Answer: A

QUESTION 4

A wireless network administrator finds that many users are unable to achieve a link-speed of more than 130Mbps.
Which of the following is the MOST likely cause?
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A. 802.11b is enabled on the network
B. Switches are set to half-duplex

C. NAC is enabled

D. The device supports only 2.4GHz

Correct Answer: D

QUESTION 5

Which of the following layers of the OSI model is responsible for routing protocols and IP addresses?
A. Network layer

B. Datalink layer

C. Application layer

D. Session layer

Correct Answer: A
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